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10th- (Mathematics)

LO Based NAS Questions-2021-22
WEEKLY REVISION ASSIGNMENT-3
1. faa forfa3 Wes S Ages il J ?

What is the probability of a sure event ?

(a)0 (b) 1/2 (c) 1 (d) -1

2. Ufgsn s g Aftref en i s St d ?
What is the mean of first five odd numbers ?

(a) 2 (b) 5 (c)6 (d) 8

3. fogst T faga midst f3gA e A< a5 2
Which of the following are the sides of a right angled triangle ?

(a) 13cm,12cm,5cm. (b) 3cm,6cm,25cm.

(c) 7cm,23cm,25cm. (d) 5cm,6cm,7cm.

4. AT wiafanf HoH's 75 w3 Higar 60 J=, 37 5gS & I=ar ?

If the mean of data is 75 and median is 60 , what will be the mode?

(a) 30 (b) 105 (c) 330 (d) 150

5. © AHgY f3g7 S garet a9 @ wigu3 Rg 9% | fegt f3gat fu3ges T
WSYUS o J=ar ?

The sides of two similar triangles are in the ratio 4:9 . What is the ratio of area of
these triangles ?

(a) 2:3 (b) 4:9 (c) 81:16 (d) 16:81
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6. TGS wiafamit @ TIA 3T 10-25 T eI fdg A I 2

What is the class mark of the class interval 10-25 of a grouped data ?

(a) 10 (b) 15 (c) 17.5 (d) 25

7. AT -5 AHIETS x2 + 2kx + 5=0 T HB IR Ik T UG US|

If -5 is a root of x? + 2kx + 5=0, then find k.

(a) -2 (b) 2 (c) 3 (d) -3

8. x THB U I e fd I&F &3 wiafanif er ggsa 25 J=:
Find the value of x if the mode of the following data is 25 :

15,20,25,18,14,15,25,15,18,16,20,25,20,x,18
(a) 18 (b) 25 (c) 15 (d) 20

9. far Miiges ey e7AZ 3 T ?

Which equation has the sum of its roots as 3 ?

(a) 2X2-3x+6=0 (b) -x243x-3=0
(c) 3x%-3x+3=0 (d) V2 %2 - % X +3=0

10. AT x-1 AHIETIET ax? + ax + 3 W3 x*+x+b=0 T A" JIEaHST J< 37

(a)6 (b) 3 (c) -3 (d) 7
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